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IRA § IMEA S et QU T Smeeht 1

SHICTSHATTER & 51 AT 8 ?
I AEmEEd

II. 3fheR
. 3TAReN Raesh

IV. Soqgaras

What is the correct chronological order
in which the following rulers ruled in
India ?

L. Sher Shah Suri

II.  Akbar

L. Ala-ud-din Khilji

IV. Iltutmish

(A) IV,LULI (B) IV,ILLII
(C) LILIULIV (D) HLIV,LII
= 0 9 % 9 9q Ras & gaeseiE 9 2
(A) FHEH (B) =

(C) Hmed (D) YR

Which one of the following saints was
contemporary of Shivaji ?

(A) Tukaram

(B) Chaitanya

(C) Namdev

(D) Shankaracharya

ST o TH T A i & 2

(A) eaagd  (B) disandzie™m
(C) wiefaen (D) «rEfwm
Who was the first Governor-General of
Bengal ?

(A) Lord Clive

(B) Lord Warren Hastings
(C) Lord Lytton

(D) Lord Ripon

(A) TS (B) fufeheam
(C) drEgshetl (D) T
Charakasambhita is a work on

(A) Polity (B) Medicine
(C) Architecture (D) Mathematics

BETA21

fAdasR AT IR ad T8 8 2

(A) B.C.261 - wfdngg

(B) AD.78 - 3 Yaq hl IEATT
(C) AD.622 — HEmgTHhiEaTd
(D) AD.1709 - 3TeE H 9y

Which one of the following pairs is
incorrectly matched ?
(A) B.C.261 -

(B)
(©

The Kalinga
War
Commencement
of Saka Era
Commencement
of the Muslim
Era

Death of
Aurangzeb

A.D.78 -

AD.622 -

A.D. 1709

(D)

0§ op YTLd & “TIUg 37 #47 <
T STHT ST & 2

(A) <EE IS (B)  gsey, ©f. St
(C) TRISRIEHEM (D) HEEATY sHsit
Who among the following is known as
the “Grand Old Man” of India ?

(A) Dadabhai Naoroji

(B) W.C. Bannerjee

(C) Pherozeshah Mehta
(D) Surendranath Bannerjee

T 1915-16 H fop8eh A9 | @ 8 &

ST IE TS ?
(A) T sE= 3R A= foaere

(B) faeter 3R «TeTT <TetUd T

(C) Taetes 3R fafomrarg uret

(D) Taeter 3R arfe< =W

Two Home Rule Leagues were started in
1915-16 under the leadership of

(A) Annie Besant and Lokmanya Tilak
(B) Tilak and Lala Lajpat Roy

(C) Tilak and Bipin Chandra Pal

(D) Tilak and Aurobindo Ghosh
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8.

a. & gal 1. @t faeerm=<
b. TwHwIfiRE 2. A= wLEEdl
c. IFEAE 3. [HHARA
d weEgs 4. . e
NN RIEEY
5. SafouE gt
Match the following :
a. Brahmo 1. Swami
Samaj Vivekanand
b. Ramakrishna 2. Dayanand
Mission Saraswati
c. Arya Samaj 3. Ram Mohan
Roy
d. Satyashodhak 4. K. Sridharalu
Samaj Naidu
5. Jyotirao
Phule
a b c d
(A) 2 3 5 1
B) 3 1 2 4
) 3 1 2 5
(D) 3 2 1 5

Rl I TR T TR Toher T 7

(A) TER U

(B) SETEAT H8&

(C) gwIY=g o™

(D) TETeHT et

Who gave the slogan ‘Do or Die’ ?
(A) Sardar Patel

(B) Jawaharlal Nehru

(C) Subhash Chandra Bose
(D) Mahatma Gandhi

: 10.

11.

12.

13,

Jq GHIYEG, 99 4 TR T O 5
T UG | FEATHI [T 1 36 IS 1 T
forar feam e

(A) SETET TEE

(B) w2y Harsan

(C) . Telg 991G

(D) .. U

When Subhash Chandra Bose resigned
from the Presidentship of Indian National
Congress, the seat was offered to

(A) Jawaharlal Nehru

(B) Pattabhi Sitaramaiah

(C) Dr. Rajendra Prasad
(D) J.B. Kripalani

TeATet o - fersteft afeer foha 1y e fera 3 2
(A) e (B) T

(C) ToE (D) =™

The Salal hydro-electric project 1is
located across the river

(A) Jhelum (B) Ravi

(C) Chenab (D) Beas
4 forga B 2 -

(A) 21W=®H  (B) 18I

(C) 23fqar = (D) 22 feomaR =
Vernal Equinox takes place on

(A) 21 March

(B) 18" June

(C) 23" September

(D) 22" December

TSI H Tae! qieieH fohees 3eamer
% fere g 2 7

(A) SR (B) z&aId

(C) dls (D) TegmREW
The ‘Khetri Project’ in Rajasthan is
famous for the production of

(A) Zinc (B) Steel

(C) Copper (D) Aluminium

BETA21
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14. 0T U 3EH fRra @

(A)
©)

The Kaziranga National Park is situated

n

(A)
(B)
©)
(D)

15. f=fafaa g @ = @ fgaerh 96 a3 hi
afear s 2

L
IL.
1L
Iv.
(A)
(©

Which of the following are rivers of the
Himalayan river system ?

L
IL.

1L
Iv.
(A)
(©

16. S HT AR -

(A)
(B)

©)
(D)

Bank rate means

(A)
(B)

(©)
(D)

BETA21

e YTl
gfyam s

(B) 3T&H
(D) A

Madhya Pradesh
Assam

West Bengal
Kerala

H
biui

EISkEl
Treredt 18.

[ 3R 11
111 3T 1V

11 3R 111
13RIV

(B)
(D)

Kaveri
Ganga
Brahmaputra
Godavari
Iand II

III and IV

(B) IIandIII
(D) Mand IV

HTEhR GRI T STH aTet &1 &

Jgfa Sl gRI ot S ST 19.

LIS
ST T3 &% Y Y X

9 F FF S g oft I et
STferenTies =TS X

Interest  rate
moneylenders
Interest  rate
scheduled banks
Rate of profit of banking institutions
Official rate of interest charged
by the Central bank of the country

charged by

charged by

—4-

i 17.

fE AT, TS, Foha IV 1 HeT ¢ al
TG S O T STECENTT 2

(A) IS 318 TE &I |

(B) =2 U |

(C) =g SR |

(D) T A IE T

If RBI reduces the cash reserve ratio,
what will happen to the credit creation ?

(A) There will be no impact.
(B) It will decrease.

(C) It will increase.

(D) None of these

90 © fopE TepR i sreleere O wEmeHl
W foft PR Bl & 3R sl
wfafafert w1 e gv oy i e
BATR 2

(A) ISfrard (B) HHTSETE
(C) fufa (D) dfve=

In which of the following type of
economies, resources are owned
privately and the main objective behind
economic activities is profit-making ?

(A) Capitalist (B) Socialist
(C) Mixed (D) Global

I 792 1 A1 fehdieh g S&AEId Bietl & 2
(A) IIR.1.37E. TaR

(B) WA % Ugdfd

(C) foawsht

(D) faaafea

The One Hundred rupee note bears the
signature of :

(A) RBI Governor

(B) President of India

(C) Finance Minister

(D) Finance Secretary



20.

21.

22,

HUT (FEMA) %1 q01 &9 1 2 7

What is the full form of FEMA ?
(A)
(B)

Funds Exchange Media Agency

Foreign Exchange Management
Act

Finance and Export Management
Association

©)

(D) Foreign Export Market Agency
IR o AT T T W@ Td Wesdl
fopad nfireT 2 2

(A) T H

(B) @wad gt |

(C) Tagd

(D) T & S T8

The ‘Public Health and Sanitation’ is
included in Constitution of India in

(A) State List

(B) Concurrent List
(C) Union List

(D) None of these

ARG T U=t ST SHET $Heh 3Taid @t
LER

(A) T SR

(B) ifetss siea

(C) T i o Freses T

(D) 3T | IS A&

Panchayati Raj System in India is laid
down under

(A)
(B)
©)
(D)

Fundamental Rights

Fundamental Duties

Directive Principles of State Policy
None of these

P 23.

24.

25.

26.

3111 <A1 STfereRR wes Wifetes SRR B, S
for meftra 2

(A) 3ITITBC21A W

(B) =g 199

(C) =BG 29TI 304

(D) T8 & I8 T

Right to Education is a fundamental
right, which is related to :

(A) Article 21A

(B) Article 19

(C) Articles 29 and 30

(D) None of these

= 4 9 frma dfgum aw § Sqew
TEAT” T ?

(A) SHETEET T8

(B) w&TeHT meft

(C) 1.3R. g

(D) #.wd. T

Who among the following moved the
‘Objective  Resolution’ in  the
Constituent Assembly ?

(A) Jawaharlal Nehru

(B) Mahatma Gandhi

(C) B.R. Ambedkar
(D) B.N.Rao

R dfam % fem sgee d
FeqEEIh % faa fifga & 2

(A) IT=e2l (B) 31I<He 24
(€) FTBE29 (D) TH YIS

In which Article of Indian Constitution,
the interests of minorities are covered ?
(A) Article 21 (B) Article 24
(C) Article 29 (D) None of these

31 =o€ dTE B
(A) SR (B) =IgH
(C) FREHH (D) FTHABETE

Current carriers in solid conductors are

(A) Protons (B) Neutrons

(C) Free Electrons(D) None of these
BETA21
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27.

28.

29.

30.

RIS N fehtreh HTOH <l ShTS & 7

(A) T a9 § AT} 778 Wehe i i
(B) Ty e § e gro =i e gl
(C) ko ¥ foalfel o STehrT GRT =it 15 Gt bl
(D) TETESIET <l TIfT Y

Light year is a unit of measurement of

(A) Speedof Rocket measured in a year

(B) Distance travelled by sound in a
vacuum during one year

(C) Distance travelled by light in a

(D)

vacuum during one year
Speed of Aeroplane

ST Teret o1 TEmIe T a8 Wi g -

(A) Hfegm Tehe (CaSO,)

(B) ShicHem TIeINIgs (CaOCl,)

(C) difeam sgeptaie (NaHCO5)

(D) wifsad FARES (NaCl)

The chemical name of Bleaching
powder is also
(A) Calcium sulphate (CaSOy,)

(B) Calcium oxychloride (CaOCl,)
(C) Sodium bicarbonate (NaHCO5)
(D) Sodium chloride (NaC/)

18-h{e |1 H TR EH 1 Terd &

The percentage of pure gold in 18-carat
gold is

(A) 60% (B) 75%

(C) 80% (D) 100%

Her H wgerrd # gl 8

(A) fefmc B) fefmA

(C) fafmB (D) THASETE

Orange contains abundance of
(A) VitaminC  (B) Vitamin A
(C) VitaminB (D) None of these

(?
31. ;:2
196 56
(A) 18 (B) 14
(C) 324 (D) 212
BETA21

' 32.

33.

34.

3s.

885 x885x 885 +115x115x115

885x885+115x115—-885x115
(A) 115 (B) 770
(C) 885 (D) 1000
J5-43 _
NG THh T 3 :
%isequalto:
+
(A) 4+415  (B) 4-415
|
© Y (D) 1

&3, T I 30% T T 3Th! fershi
20% 9@ T3 | GHTGR 3 3T T IEHT HT
ERIC RSN

(A) 10% Gt (B) 10% =t

(C) 16% st (D) 16% =t

On decreasing the price of T.V. sets by
30%, its sale is increased by 20%. What

is the effect on the revenue received by
the shopkeeper ?

(A) 10% increase (B)
(C) 16% increase (D)

10% decrease
16% decrease

<R Raerfedt i e 39 18.5 a4 8 | 37X
i =i 3 off 3T IS 61 SITC a1 3Ted
30 20% G ST &, TN hi< hl W & :

(A) 28aY (B) 31ad

(C) 34ad (D) 374

The average age of four players is 18.5
years. If the age of the coach is also

included, the average age increases by
20%. The age of the coach is :

(A) 28 years (B) 31 years
(C) 34 years (D) 37 years

Prepp
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36. ‘THA & AW U B
(A) wgd (B) wH
(C) 39T (D) 3ehetl
37. ‘S0 ST WA BH AR ?
(A) faw=wr (B) 3TEHKR
(C) = (D) ™
38. ‘O ol B 91T 9 & fore i few o
forehed © @ U I1eg I
(A) HHi= (B) wHIE
(C) wews (D) wew
39. TR H GFR 9T gErer 1 37 fefE |
(A) TI&l T T AT
(B) 9re H 55 shel
(C) wgd s
(D) | ST
40. 3G T BT =IE HIT |
(A) T (B) HIEcAThIEN
(C) TEAHIT (D) HETcTehIal

Directions : Read the passage carefully and
answer the corresponding questions : (41-43)

Nehru’s was a many-sided personality. He
enjoyed reading and writing books as much as
he enjoyed fighting political and social evils or
resisting tyranny. In him the scientist and the
humanist were held in perfect balance. While
he kept looking at social problems from a
scientific standpoint, he never forgot that we
should nourish the total man. As a scientist, he
refused to believe, in a benevolent power
interested in men’s affairs; but, as a self-
proclaimed non-believer, he loved affirming
his faith in life and the beauty of nature.
Children he adored. Unlike Wordsworth, he
did not see them trailing clouds of glory from
their recent sojourn in heaven. He saw them as
blossoms of promise and renewal, the only
hope for mankind.

A

: 41.

42,

43.

44.

| 45.

46.

A many-sided personality means

(A) acomplex personality

(B) asecretive personality

(C) aperson having varied interests
(D) a capable person.

Pt. Nehru enjoyed

(A) reading and writing books.

(B) fighting political and social evils.
(C) resisting tyranny.

(D) doing all these and much more.

Which of the following statements
reflects Pt. Nehru’s point of view ?

(A) Humanism is more important than
Science.

(B) Science is supreme and Humanism
is subordinate to it.

(C) Science and Humanism are equally
important.

(D) There is no common ground

between Science and Humanism.

Give Synonym for the following :
Famous

(A) Awful
(C) Popular

(B) Poor
(D) Steady

Give Antonym for the following :

Transparent
(A) Obvious (B) Limpid
(C) Opaque (D) Clear

fou U faehedl § & GEla weg &1 w74
SHifera

aegfifersTr : el - et ;2

(A) (B) T

(C) wHa (D) THTERo

Select the related word from the given
alternatives :

Ornithologist : Birds :: Anthropologist : ?
(A) Plants (B) Animals

(C) Mankind (D) Environment

BETA21
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47. 3T T 1 T HINTT ST T o STeh! S|

48.

49.

50.

| Al 781 W@ |
(A) & (B) HeReH
(C) d« (D) R

Choose the word which is least like the
other words in the group.

(A) Curd (B) Butter
(©) oil (D) Cheese

frelt ffve@ %< § PRODUCTIONS !
QQPCVEUHPMT for@r Sre 2 | it %e
T ORIENTATION ford JehR forar st 2
In a certain code, PRODUCTIONS is

written as QQPCVEUHPMT. How is
ORIENTATION written in that code ?

(A) PQIDOVBSINO
(B) PQJDOUBUIPO
(C) PSJFOVBSINO
(D) NSHFMVBSJNO

e 1 3T 39 S g FHfae A e, <8
3Tk Tl % A I 3helal 9A 7 17 T,

faftge @ frg yrr Teft@ 2 7
(A) 31 (B) wdlsht
(C) =i (D) ==kl 5ig

Pointing towards Rita, Nikhil said, “I am
the only son of her mother’s son.” How
is Rita related to Nikhil ?

(A) Aunt (B) Niece
(C) Mother (D) Cousin

e fopet e | 25 37T ol AR B, Ot IE
TR H AR ! §&1 &
If the 25" of August in a year is

Thursday, the number of Mondays in
that month is

(A) 3 (B) 4
€ 3 D) 6
BETA21

i 51.

52.

53.

54.

=1 o 9 fopd oTet ® WTse gR iR
1 Tshamae T8 5o 8 2

(A) 3TRAET (B) =t

(€) =% (D) v

In which of the following cities Light
House Project is not implemented ?

(A) Agartala (B) Ranchi

(C) Chennai (D) Patna

S H R qrE=R ot forea & wrerell
o TS SIS 8 2

(A) Tema-fasn (B)  wwd e
(C) 3msfean (D) SrET®H

Which Indian telecom company is
world’s fifth strongest brand ?

(A) Reliance-Jio (B) Bharti Airtel
(C) Idea (D) Vodafone

g (BOLD — Bamboo Oasis on Lands
in Drought) TGS 8Tt & H W < foh
TSI 4 36 61 78 2

(A) TIH (B) gfmm

(C) foEr (D) T Y

The Project BOLD (Bamboo Oasis on
Lands in Drought) was recently launched
from which state in India ?

(A) Rajasthan

(B) Haryana

(C) Bihar

(D) Madhya Pradesh

TIF TP hl Dl (COVAX) AT
3rdtd hifae-19 6 grd JefA 9 arer
TEAT A D AT 2

(A) =T (B) rEsfifca

(C) 3TshieAt (D) HsH

Which is first country to get free COVID-
19 vaccines through the COVAX scheme
of United Nations ?

(A) Ghana
(C) Africa

(B) Nigeria
(D) Sudan

prepp
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55.

56.

57.

58.

siafee & T aTeh W gw e
I{iehT Afger STafermst sk g 2

(A) TawrsTean (B) S S

(C) Tg=ligra (D) heud1 =Edl
Who is the second Indian born American
woman astronaut to fly to space ?

(A) Sirisha Bandla (B) Shreya Badla
(C) Ritu Karidhal (D) Kalpana Chawla

3H AT Teeta o1 1 1 8, S g &
ST o foTu 3 |ie oh Sifcrare oI I 2
(A) INTRTI  (B) Fid Afh
(C) Toafdg (D) 9 FAR
Name the Indian wrestler, who gets two-
year ban for doping recently.

(A) Yogeshwar Dutt

(B) Sumit Malik

(C) Ravinder Singh

(D) Pawan Kumar

T 1 98 IF 91 JUH T 7, &l we-
T-Tug $-hfere gored emy el T R 2

(A) SW¥E  (B) TeHm ggw
(C) 3T (D) g

Which State in India is first state to

implement an end to end e-Cabinet System ? 61

(A) Uttar Pradesh

(B) Himachal Pradesh
(C) Goa

(D) Haryana

fFE YR TG g ' & | 2019-
2020 o fotw 3. €t 378 wH.3.+ (UDISE+)
I[& fepan TR 2

(A) WF A (B) et warer
(C) fmmae@ (D) T8 HAe™
Which Indian ministry recently launched
UDISE+ for 2019-2020?

(A) Ministry of Health

(B) Ministry of Education

(C) Ministry of Finance
(D) Ministry of Home Affairs

i 59.

60.

62.

TR frmtar <<fiar 3 forg ke Raaret

1 T SIS Trerget e foha 2
(A) fewEdft (B) wi.ww. g
(C) s91id It (D) TR aam

Smartphone maker ‘Vivo’ appointed
which cricketer as its brand ambassador?
(A) Virat Kohli

(B) M.S. Dhoni

(C) Ishant Sharma

(D) Shikhar Dhawan

RN i (Al) 3maTia I
“SUPACE” wid # e =Imrmer & fow
& foRaT T 2

(A) Teoett 3= ~mTe™

(B) TSA 3= ATITTH

(C) Tar= T

(D) ¥ & 1 el

Artificial Intelligence (AI) based portal
‘SUPACE’ launched for which court in
India ?

(A) Delhi High Court

(B) Gujarat High Court

(C) Supreme Court
(D) None of these

fopan W™ U= AuTet | i | s
g7

(A) d= (B) =R

(©) dm D) Q@

How many Indian States share their
boundary with Nepal ?

(A) Five (B) Four

(C) Three (D) Two

fom & & e feebt o Tareh ik E R 2
A) #ifSm (B) IH ™

(©) feeeht (D) @re

Which of the following is the capital of
Costa Rica ?
(A) Beijing
(C) Delhi

(B) SanJose
(D) Dhaka

BETA21
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63.

64.

65.

66.

BETA21

HSIM TSI ALTGT hl 3TTferehTis wTsT
fedawne?

(A) dfa (B) Tt

(C) T emrt (D) fagem

Which among the following is the
official language of Union Territory of
Lakshadweep ?

(A)
(B)
©)
(D)

Tamil

Malayalam

Great Andamanese
Sinhala

W o YT o ITTHR Tleh T h Heel
* ITRrehan GE w2

As per Constitution of India, what is the

maximum  strength  (number  of
members) of the Lok Sabha ?

(A) 530 (B) 540

(C) 550 (D) 552

Te<t fema e W ST 2 2

(A) Toa=R14  (B) IR

(C) &2 (D) 3T 3

When is ‘Hindi Diwas’ celebrated ?
(A) September 14 (B) October 1
(C) November2 (D) October3

TTH W M T ¢ 9Teh (SAARC) 1 HeH
EEEN

(A) Tt

(C)  STHITEAH

Which of the following countries is not a
member of SAARC ?

(A) Nepal (B) Bangladesh
(C) Afghanistan (D) Myanmar

(B)  Sele

(D) MR

i 67.

68.

| 69.

70.

-10-

g 4 9 foom M W Sdar-ta i
THTE R § 7

(A) SHTeTE B) feeeht

(C) 3MTTETg (D) @S

In which of the following places Ajanta-
Ellora caves are situated ?

(A) Bengaluru  (B) Delhi
(C) Aurangabad (D) Lucknow

3o forE WA T /g 2TTid e <Al
T [Teh 308 & ?

(A) 3EH (B) A

(C) dafeHTg (D) HACH

Onam is the cultural festival of which
Indian State/ UT ?

(A) Assam (B) Kerala
(C) Tamil Nadu (D) Karnataka

fraffed § & o9 @1 78 9 % ged
T B 7

(A) ge=ft (B) =g

(C) e (D) 3o

Which of the following planets is closest
to the Sun ?

(A) Earth (B) Moon

(C) Mars (D) Mercury
Teiet QR STTaH aTel FIH TS i 9 2
A) ST (B) TSa e

(C) WY (D) wex @
Who was the first Asian Winner of
Nobel Prize ?

(A) C.V.Raman

(B) Rajiv Gandhi

(C) Rabindranath Tagore

(D) Mother Teresa

Prepp
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frcw « Fforfaa e b1 eamyEes afgw qem 34
TR 3G YT (71-75) o SR AT :

A & g oh! T HiTeh1aii bl deT-Har
o wwme e % for wiiefsht 3 foava w1 srfga
w91 3@ YeM foha | TITeS et d o o6 IW
3R ATEET % GRI foval o HAR § HAR &ed !
off ST ST ST TRaT B | 3R 3 fagrt
wlieqor oft forer 3R o “Frar=a” Twer frg g | feam
¥ fean sigdt 2, g, gUm Sl T ¢t & AR I
° I 1 aflg Bt @ | 37 ¥g Mfvad g T

T S N S S S

Hehdl | A= o 19T | AES AT AT forehr

TS Tal | T Y 1 TTH - St gl AT

2, Safep gl qul wrifer 3R g@ &1 21 qe Sauem
THTe i fohu STTd & | Hifes gfE & =R
3R HfY 61 Al oft wrifereprat o & TF9a Bt 2,
37d: g I fova o1 el =med 8 9 g6 Ig

STersehT ST € B | S S Wy

Torva o smf= wenfra st g0, auft forva & gam=
TS A T ohl ST 979 gt |

71. Towa o wnfa o= smawas 7 7
(A) | T o ferepra o forg
(B) 3THIH T&HTcHS S & foTg
(C) =R 3R HM i 377 < foIg

(D) oR ¥ H3R geF ! ff BTt sHM

o forg

P72,

73.

74.

75,

Torea smifa <1 TemgaT < fow geg 3Tavaes
H

(A) Tear IR
(B) 3fgan 3Ry
(C) 3Tt TR grfigar
(D) ufeM 3R TH

H3X U Hall gc¥ bl Y hIAeT SHR=T ST
HohdT &

(A) TSI 9T gra
(B) HIN 9o gl
(C) ifeargr
(D) wAg

fepeft oft Ty < Tafei - < yq@ 7w &
(A) o9 3R Avg

(B) o 3R oM

(C) SATEATeH 3T SUTHAT

(D) =T, @ 3T HTCHS Bt

‘T’ 31eg ST IWIH TITT B
(A) Wit

(B) forerpet

(C) faferr

(D) F=

BETA21
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e« Frforfga e w1 eamgdes dfew e 3d
TR 3MHTRA J¥T (76-80) o IR AT -
o™ 3191 % AFE-Sfied o1 AfawT=T T
afg 30 &9 T} | A -Sfted 1 h1g off &
form %6 313ayd nfarshrl & 31T & T | 3
¥ 3gHS I 9FE 1 I Hedl g | TS
fome = g8y 3R AR, Aifeerer 3R TeHifas,

3R &freh, sifEmar 3t freges qen o ok
s g+t 1 3R |t el o foreft 7 el w0 |
3T TITH TeF ¥ TR [oha1 8 | 3T T
ey forsmea g1 7 @ | foe < =reor fevft
THISER § oht 9E1-ag] YT el Wl 3R
JrgTfeTeRTaTl | & gfEa 781 21d, Tegd o ¥a 3R
ST <h! WSl ohl dAraeht sTaie | ot iaefia
& | aqd: T e aMe <l ged w9t i
I | 35k 9 § TS Yehfdl 3R STOSRTd
&1 TR for a9 went 7 | foge < 3rque @ 98 ot

SehTC T Gt S FEErst i Wit
78, fiva % TRERE T 1 TE HR R

HUTHI ¢ | 376 I8 H/A-HJ3T o ThIT T HATHIT
wd T 8 7 | foega 3 38 aredifera foRam B,
ISUTAT S Sfaetd & B, s1eq aarent fendt off s
%I TFH BT I qThd W & 7 | FHARSH o fafay
YA 39 A9 & | I1arTa U9 SR o d19E1
ferohrar & T 31 e it <t sgd wH &1 TS #
TR T forvd Ueh qHER—81 & & 2 | iy
HIT I o & H IcATEH <hl il g B o HHT
3 g Ueet § e eH-aT ¥ T R
foen o fafeeen & &= o fogm &t @
e 7 | foe & deam & 5 ot 3R
TG h 3T (68 TEAHCIh hich 316 FANE
Ik T o9 3 gohT & | Ty, s 3 wgsa
sifgen fasm@ wem fha @ 3R aefaes fam-

ugfd & % | AW femm-ugla @ o |

JrafavaTal 3R &fg -t 8 Ih gkt el
Td Ggfetd & A gre - e ot Tehdr & 3T e

BETA21

| e T {9 S Tehdl 8 | 399 AT o 0 ol

Tt o sr-ufergardl, yaqol 3R eferarE fommd,
W3 3R SITaT @ g fireft 2 | fore B @ o
A & | HIE i 16T foh o1 forsi ot 56 awy
T I T BT H AT e |

76. o wE 6 gew St ke 3@ HEl
TS 8 Tk 36 o § AT
(A) Tr@ufe s @ g |
(B) ohfer 3R sforsiTer b1 RRAR 2 |
(C) =t Wiferes glaensti & aw= 7 |
(D) 3A=ReT o & § §=Ield h Hehall & |

77. S e -9gld § AT 1 g9 Sl
3ushR Tg ferarr & o 3@ ufeh fireft 2
(A) Ffea gl @
(B) U T3 Sftummimarst &
(C) vt wfgard fommon &
(D) ST ETehleh TS 8

(A) I Ud TR GIEHT T e
(B) fasma &t nfasfier srieart
(C) Tomm i St @ afgar
(D) Toea-a-ycd shi WIaAT & foehd

79. ‘TS Ieg O 31U B
(A) 3TIE Y] AR ST
(B) UEH @ 3Tdd hl W&
(C) &refl = o stferet <l T
(D) TIE 3N Y S

80. ‘AT~ YeEy | I B
(A) TR feeae
(B) wraTeHeh fa=
(C) a=rteni gr Tk o faeaa
(D) Y Td Hferd o
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e (81-85) : U feu T U W anenfa € | 59
T % SRS |
Directions (81-85) : The questions are based

on the below shown graph. Answer these
questions.

TT%h | Teh TUET H 7 BT oh 31q8TE IR A &
3fehl <1 FTUTA AT T2 |

The graph shows the ratio of marks of History
to Geography of 7 students in an examination.

1.6
1.5
1.4
13
1.2
1.1
1
0.9
0.8
E')O]
0.6
0.5
0.4
03
02
0.1

(Ratio)

1 2 3 4 5 o6 7
B (Student)

81. Toha ST 7 vmie <hi 31U sfemd § Same
31k FAfia fopw 2
How many students got more marks in
History than in Geography ?
A) 2 B) 3
€ 4 D) 5

82. T 4 @ fo57 1 I e it 37vem
3ferera & 9 a1 firet 2
Which of the following students got less
marks in History than in Geography ?
(A) 1,3,5,6 B) 1,2,3,6
(C) 1,4,5,7 (D) 4,5,7

- answer the following questions :

13-

F 83, I H B 3 " 4 % HL 37 oh! Afawrd

e -

Percentage increase of marks in
Geography from student 3 to 4 is —

(A) 15

(B) 20

(©) 90

(D) 3ATehg AT/ Insufficient data

84. sfogm@/ it & ifwan @ 3
A ST HT I 2

The difference of the maximum ratio and
minimum ratio of History/Geography is
(A) 045 (B) 0.50

(C) 0.90 (D) 1.20

| 85. DM 4 I YT H 60 37 fiet | 36

fergra # 31 8

Student 4 got 60 marks in Geography.
His marks in History are —

(A) 48

(B) 68

(C©) 75

(D) SIH § IS a1/ None of these

fET (86-90) : UTH 1 eI W FEAfARET
I3 & I eI
Directions (86-90) : Study the graph and

oA I T SeTEA Hifgw 2 |
804 Production of Raw wool in Metric Tonnes
76
751 7 73
704 s
65
65+ % /
o1 56 Z
55+ ~ 53 /
NERA LN
T 2 g 52 2 g 3
R S R - =
S & &8 &8 &8 &8 & <&

86. Tl Il oh ICATC H IHAAH Jeg 1 a8 AT :

The maximum rise in the production of
raw wool was in the year :

(A) 2017-18 (B) 2020-21
(C) 2016-17 (D) 2019-20
BETA21
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87.

88.

89.

90.

U IR AT o IcqTeH i o | 31f<m
IR NI H e I I IcATeH %
ECRIEIN

During the last four years the production

of raw wool increased by % on
the production of the first four years.

(A) 26.8 (B) 222
(C) 19.8 (D) 25.0
TS N1 o G 3THd 3cdTed o

The average production during the eight
years was

(A) 67.2MT
(B) 62.5MT
(C) 50.0 MT
(D) 52.8 MT

3cdate | st o Y gorn § srfrehan
wfrd Trea forg a @i ?
The maximum percentage decrease of

production over the previous year was in
the year :

(A) 2018-19
(C) 2013-14

(B) 2017-18
(D) 2014-15

2014-15 ® =l 3 T 3d1ed 2019-20 &
3T I T |

The production of raw wool in 2014-15

was of the production in
2019-20.
1 2
A) — B) =
(A) 3 (B) 3
1 3
C) — D) =
(©) 5 (D) 2

BETA21

 féw (91-95) ¢ & T arfeR % mER W

ferforaa sl < I i -

Directions (91-95) : Read the following table
and answer the questions given below it.

9T Yeqid gry 3ATNIa A1ideh HHISH

Yearly Commission Earned by Five

Salesmen

preee

SECLE]

(Salesman)

L
(Year)

2015 2016 2017 2018| 2019

2020

27,350] 28,500 25200 29,800| 24,600

27,000

26,850 27900 27400] 28000 28500

29,000

26,200] 27,800] 28200 29,100{ 29400

30,000

27,850] 30,040| 29,800{ 30,060 29,800

32,000

=S (A= (>

28,640 29,000] 28750| 30,000] 29,750

29,700

I (Total)

1,36,890 | 1,43,240 | 1,39,350 | 1,46,960 | 1,42,050

1,47,700

91.

92.

93.

14—

form o 1 Geada C g AR wHivE fusa
e b1 qorT # srferehan 9fg gutar ¢

In which year commission earned by the
salesman C showed the highest increase
that of the preceding year ?

(A) 2016 (B) 2017

(C) 2018 (D) 2019

a9 2018 H B w1 HHIIME UTel Seqdql &
3t a9 % PoT HHSE BT T b
gfasra o1 ?

In the year 2018 the commission of B
was approximately what percent of the
total commission earned by all salesmen
in that year ?

(A) 19.05

(B) 98

(C) 80

(D) THY TS T8l /None of these

or HeEa 1 2018 T HHIRH, 2015

T § Iy gfg gt 8 2

Which salesman’s commission in 2018 show
the highest increase over that in 2015 ?

(A) A (B) B

© D (D) C
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94.

9s.

1 5 @ forg o o foret oft Sewi g o1f@ |

ST 3T =IFH HHIH T 37 SAIHan g ?
In which of the following year was the
difference between the highest and
lowest commission earned by any
salesman maximum ?

(A) 2017 (B) 2018

(C) 2019 (D) 2020

Ty 2019 § Fe@HT D gRI R e
A TR G HHA 1 T fRa
fcrerd & 2

In the year 2019, commission earned by
salesman D was approximately what
percent of commission earned by A ?
(A) 18

(B) 21

(C) 52

(D) %" ¥ %I T2l /None of these

TGS (96-100) : €t 778 ATfeTehT /ATUft b1 SIYE
I hL T = feu e i o IR e
Directions (96-100) : Study the table and
answer the questions given below :

Frforer WA i =T e s 3 g R

geT (Ahsi H)

Number of accounts opened (in hundreds)
in four Share broker in various months

IR

s/ | W8/ [SE/ 9T/ |/ | T/
Share May|June| July | Aug. | Sept.
Broker

Tl / 25 | 28 35 65 55
Angel

IEH/ 22 | 18 32 30 45
Sharekhan

S/ 30 | 45 50 35 40
Zerodha

agg'a/ 35 | 42 45 50 60
Tradebull

A

96.

97.

98.

99.

. 100.

— 15—

frerferfiaa § & fba oy § g @ 6
T hl 3T TETH & 7

(A) (B) fereesR

(C) I (D) =%

In which of the following months is the

average of the number of opened
accounts the maximum ?

(A) June (B) September
(C) August (D) May
T H Gl @l shl T S H Gt @i bl

AT Y AT fehae gfererd oA I s3mer o ¢

The number of accounts opened in Aug.
is approximately what per cent more or
less than the number of accounts opened
in June ?

(A) 335 (B) 353

(C) 346 (D) 40

TS o Fawer ek Ustet H Got Wi <hl §& &
SR H Gol @i <hl T TSI R 3 ?
What is the ratio of the number of

accounts opened in Angel to that opened
in Zerodha from May to September ?

(A) 1.5 (B) 0.75

(C) 225 (D) 1.04

forer SRR ST & o @l 1 siEa we
HEAU & 7

(A) T (B) @M

(C) 5w (D) SHIe

In which Share broker is the average
number of accounts opened the maximum ?
(A) Angel (B) Sharekhan
(C) Tradebull (D) Zerodha

2Sgcl 1 Gol @Al oh! T T 3T @
H gol @Al Sl T&IT & 3Ed 1 ATHT
TeRaHT SifcreTd shW =T S3TET AT ?

The average number of accounts opened
in Tradebull is approximate what per cent
more or less than the average number of
accounts opened in Sharekhan ?

(A) 57.82 (B) 60

(C) 45.90 (D) 50.69

BETA21
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